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MR R G IR AR (322 W) [X)

Z

# () FHHAES KRN ERE (REEHAL: mg/m’; THEBAT: kg/h)
ST o5 AR 42 R &5 5
zprgy | RHRAEHR Ko
B H—IR R B=0
e S e i 1.6 1.5 2.8
MR ESHO HEAL i
QF1 HGE= | 0.015 0.014 0.026
v ST TMREE | 346 3.15 ND
FHE
QF2 HeE= | 0.030 0.026 <0.002
S e 4.0 3.2 37
LY
HEfi G 0.288 0.234 0.276
I 3 i A S e E ND ND 0.009
2019.12.20 | THREHED —H%
QF3 HERGHEZE | <2.88x10* | <2.93x10 | 6.70x104
R | FUIRE | 0223 0.076 0.175
W ks | 0.016 0.006 0.013
S B 0.018 0.015 0.006
THE
MEFBESHEN FFBCER | 8.24x10° | 7.04x10° | 2.78x10°S
0 e | SEIREE | 0.034 0.025 0.017
B oS | 156104 | 1.17x10% | 7.86x10°

: (1) QF1. QF2 H-MmEHIN 20 X, QF3 HESEEEN 16.5 K, QF4 HiS G &
15 K,

(2) “ND” FIRARMH, SAZMK R I90.2mg/m?, F/8] = HI 3 gk B S
0.009mg/m?, 4% — F 2R AYHE HH BR 40.004mg/m?.

x Q) BHARSKRNGEES (BAL: mg/m3)
R &5 B
700 B[] TS AL 42 R T 4 Fa i 751
BE—W f: ) EB=IR
[~ 3t A QW1 0.027 0.071 0.061
[ F T RIE Qw2 \ 0.077 0.074 0.102
= HRMEE N
] HTFRE QW3 0.087 0.113 0.103
] F R A QW4 0.152 0.155 0.156
2019.12.20
|3 ERR QW1 0.283 0.200 0:217
A Qw2 2 0.483 0.550 0.500
= PP =R G1f L
5 R RUE QW3 0.400 0.450 0.433
[ 7 IR QW4 0.417 0.467 0.467

VL7 ERE 40 MR R A 5] 512 I 4 SEHEFE: 200910 H 1 [

i,



IR e RE A R AR (322 @) XD

RESRE S
A6 00 B[] i S AR 60 351 H
B—K ==k =R
|75 B QWI 0.006 0.011 0.010
[ RF RUE QW2 0.009 0.008 0.011
—HE
TR AR QW3 0.010 0.016 0.014
R R QW4 0.024 0.025 0.025
I R® BRI QWL ND ND ND
75T R[] QW2 ND ND ND
2019.12.20 FHE
R AR QW3 ND ND ND
TR F AR QW4 ND ND ND
5 BRI QW1 0.075 0.067 0.070
I~ 5T RE QW2 0.079 0.076 0.083
AN
7 BT AR QW3 0.080 0.082 0.077
T~ 5T RE QW4 0.075 0.084 0.088

VB “ND” FoRatad, SAAMRERA 0.02mg/m’,

£ 3) | ARERAUSERR

(BAfI: dB (A))

K s AL 2R T ) [ R 45 51

(8] 16:17 59.2
FAL H Z1

L[| 22:45 49.0

B[] 15:29 53.7
REE R 722

18] 22:03 45.0

B[] 15:40 55.6
RE] 73

4 18] 22:12 46.5

2019.12.20

B[] 15:54 54.3
PR A Z4

balsl 22:22 45.5

A (] 16:01 54.7
[ VA

R I8 22:30 46.9

B[] 16:08 54.9
k) R/ Z6

L Ia] 22:38 45.4

. SR 12 8 20 AR BERGE: 2.3-2.6m/s; RS £z A A
A RGE: 3.4~3.7m/s: RS: B W K.
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RIS E IR AT (322 i) X))

#£ (4) BREISH

FrE H I 2019.12.20
W H Bofr Ko o5 6 48 B8 S fiile <A QF1
F£—0 i BER
KA kPa 102.5 102.6 102.7
ikt C 7.1 6.8 8.3
P e kPa 0.04 0.04 0.04
B EAE Pa 100 95 96
&SR m? 0.2827 0.2827 0.2827
TiRE % 5.8 5.8 5.9
RESE m¥h 9651 9402 9412
gk 1) RUHARSZSH
PRA=El 2019.12.20
o H AL I AL 42 FR K 5 R RS HE D QF2
=i BZIR W=
KAE kPa 102.5 102.6 102.7
ik 6 14.1 14.5 14.9
HRS kPa 0.02 0.01 0.02
BEAE Pa 79 74 7o
FRIE #TH m? 0.2827 0.2827 0.2827
LTS s % 50 5.3 52
AR m/h 8531 8218 8170
gx 4) BUHEESISH
=t 2019.12.20
o B B W AL A TR SR S BEE R S HED QF3
B oW H=IR
K& kPa 102.9 102.8 102.7
i ik 1 9.2 9.4 9.6
WA kPa 0.01 -0.01 -0.02
) e AL Pa 80 92 86
HH 3 AT AR m’ 2.2698 2.2698 2.2698
ERITA s % 1.6 1.6 157
REAE m?/h 72103 73245 74491
% 4 U 3 14 1 SHEFM: 2019 10 1 [
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Mt E A PR AR (322 W) XD

gE (1) RIUPRAEISH

FerE H A 2019.12.20
m B ;A 1) ¥l s T 4488 TS HEO QF4
B— N =K
K= kPa 102.9 102.8 102.7
TR i@ 139.4 137.5 138.9
TR R R kPa 0.08 0.07 0.07
FhIEE Pa 99 103 101
IR IR m? 0.1590 0.1590 0.1590
S % 3.1 3.0 3.2
FRESE m/h 4580 4693 4626
£ (5) RESESE
& A ={k SiB B
¥ \“ 7 /e = » =]
KREAM | REY | RS R (s (kPa) (KD (%)
E—K £x | AE 2.3 102.9 279.4 57
2019.1220 | HE K& N 4 2.4 102.8 280.8 56
E=K ey ] 2.1 102.7 281.6 56
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A s AR R IE R R AR (322 1) X))

BifE 2 HHREREFIDERR
A H 2019.12.20
e AL | AR A B AR RS Wi R AR QF3 it R
K BTIX =

A mg/m? 0.04 ND ND 0.01
AR mg/m? ND ND ND 0.002
IECk mg/m 0.011 ND 0.011 0.004
LR mg/m?3 ND ND ND 0.006

* mg/m> ND ND ND 0.004
ANHECEHSER | mgm? ND ND ND 0.001
3-JX mg/m?3 ND ND ND 0.002
1EBEgT mg/m?3 ND ND ND 0.004
B mg/m? 0.008 0.005 0.007 0.004

A 1 i mg/m? ND ND ND 0.004
LR 28 mg/m? ND ND ND 0.007
IR T B mg/m? 0.012 0.006 0.011 0.005
AR ZREE | mg/m? ND ND ND 0.005
K mg/m’ 0.006 ND 0.007 0.006

Xof/ ) R mg/m? ND ND 0.009 0.009
2- B mg/m? ND ND ND 0.001
RN mg/m? 0.146 0.065 0.130 0.004

g sl 3 mg/m? ND ND ND 0.004

7 F g mg/m? ND ND ND 0.003
7R mg/m’ ND ND ND 0.007

1- 2547 mg/m? ND ND ND 0.003
2-F-fid mg/m? ND ND ND 0.003
1% mg/m? ND ND ND 0.008

UEEMEE | mgm? 0.223 0.076 0.175 /
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MRrE A HE G IRAR (322 X))

B 2 HALERMENDERR

KFEH A 2019.12.20
&Y R VA 8 =R VR V& R T RSN QF4 o PR
F—IK Bk FEZIX

P mg/m? ND ND ND 0.01
R mg/m? ND ND ND 0.002
ESHt mg/m? ND ND ND 0.004
LR TR mg/m? ND ND ND 0.006

7 mg/m? ND ND ND 0.004
ANRECHEAR | mgm ND ND ND 0.001
3-1% mg/m? ND ND ND 0.002
IEBE T mg/m? ND ND ND 0.004

HA mg/m* ND ND ND 0.004
E2N374. ] mg/m? ND ND ND 0.004
FLER 2. mg/m? ND ND ND 0.007
LR T T mg/m? 0.010 0.010 0.011 0.005
A_EHE LKA | mg/m? ND ND ND 0.005
LA mg/m? 0.006 ND ND 0.006

X /1E) — H 2 mg/m? 0.011 0.009 ND 0.009
2- G mg/m? ND ND ND 0.001
KN mg/m? ND ND ND 0.004

&R B mg/m? 0.007 0.006 0.006 0.004
7 H ik mg/m? ND ND ND 0.003

7 H g mg/m? ND ND ND 0.007

1- 27 mg/m’ ND ND ND 0.003

2- Tl mg/m’ ND ND ND 0.003
== mg/m? ND ND ND 0.008

M EhEmEE | mgm? 0.034 0.025 0.017 /
P 4R W 25 BT B R 75 924 HH BR A, R 45 3R UL ND s H Mt U5 e

HBR
TR N b MR R 22 7] 010 ¥ 3t 14 1 et A M. 2019 £ 10 73 1 H




MR E NS R AR (322 ) XD

B 3 THREREAIIEER

oy i KA H 2019.12.20 -
QWI-1 QWI1-2 QWI1-3
1,1- =R L% ng/m? ND ND ND 0.3
112-=5-122 =875t | pg/m’ ND ND ND 0.5
ISP Hg/m? ND ND ND 0.3
g S 5 ng/m? 129 41 37 1.0
1,1- =8| 2% ug/m? ND ND ND 0.4
is-1,2,- & 2% ng/m? ND ND ND 0.5
= b ng/m? 0.8 1.6 0.7 0.4
1,1,1- =& 2%t ng/m? ND ND ND 0.4
WERERT png/m? 2.8 3.0 1.7 0.6
1,2- =R %% pg/m? ND ND ND 0.8
F S ng/m? ND 2.4 2.0 0.4
=Rk pg/m? ND ND ND 0.5
1,2- AR b ug/m? ND ND ND 0.4
JH-1,3- = A pg/m? ND ND ND 0.5
il S pg/m? 2.2 4.7 3.7 0.4
RAR-1,3-Z 8N pg/m? ND ND ND 0.5
1,1,2- =8/ 5% pg/m? ND ND ND 0.4
LYy 7 ng/m? 0.7 1.2 0.9 0.4
1,2-ZiR K pg/m? ND ND ND 0.4
£ S ng/m? ND ND ND 0.3
V4% S Hg/m? 1.8 5.7 5.4 0.3
it /[E] — FR g/m? 3.6 6.3 57 0.6
A B pg/m?3 2.5 4.3 3.9 0.6
AN ng/m? ND 1.0 0.6 0.6
1,1,2,2-PURA 2 %5 pg/m?3 ND ND ND 0.4
4-Z, FE IR pg/m?3 ND ND ND 0.8
1,3,5- = &3 ug/m? ND ND ND 0.7
1,2,4-= HIHER ng/m? ND ND ND 0.8
13- 450% Hg/m? ND ND ND 0.6
1.4-—50% pg/m? ND ND ND 0.7
TR ug/m? ND ND ND 0.7
1,2-— 8§ pg/m? ND ND ND 0.7
1,2,4- =5k jug/m?3 ND ND ND 0.7
ANET ug/m? ND ND ND 0.6
L& e E ng/m? 27.1 70.9 60.7 /
i 2k 25 SRAR T B 5 PR A, R 45 5 DL ND 2R 3Rt
TTER R .
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PR R SR A (322 X))

BRI 2 BAGHERMANME B

et oy KAEH 2019.12.20 e
QW21 | Qwaz QW2-3
LI-ZHZH8 b’ | ND | wp N e
LI2-Z§-1.22-ZHZ 4 | pgm? ) s R R | o5
FH A% ng/m? ND | D ND 0.3
TR ug/m?3 45.0 47 61 1.0
LI-Z& 2%t pg/m? ND ND ND 0.4
IizC-1,2,-— @ z. 4% pg/m? ND ND ND 0.5
=F g ug/m? 1.3 1.0 2.2 0.4
LLI-=8 7.4z pg/m3 ND ND ND 0.4
IR ng/m? 2R 1.8 7.6 0.6
1L,2- =/ 242 pg/m3 ND ND ND 0.8
* ug/m3 5.1 35 4.4 0.4
=825 ug/m3 1.4 1.7 1.6 0.5
1L,2-— & Ak pg/m3 ND ND ND 0.4
Wiz-1,3- — & 4% pg/m? ND ND ND 0.5
R ug/m3 5.8 5.6 5.9 0.4
RA-1,3- 8 FH B Hg/m? ND ND ND 0.5
1,1,2-=§ 2.4z pg/m? ND ND ND 0.4
E W ug/m? 1.6 0.8 1.8 0.4
1,2-ZiRZ % pg/m3 ND ND ND 0.4
BN pg/m3 ND ND ND 0.3
LF pg/m3 3.6 3.5 4.7 0.3
X /18] — BA 2 pg/m? 5.1 4.6 6.5 0.6
P EH ng/m?3 3.5 35 4.5 0.6
BN ug/m3 1.6 1.4 1.4 0.6
1,1,2,2-PU81 7, 2 ug/m? ND ND ND 0.4
4-Z BRI ug/m3 ND ND ND 0.8
1,3,5-= 3L 3% pg/m?3 ND ND ND 0.7
1,2,4- = F 3R pg/m? ND ND ND 0.8
1,3-— &% ug/m? ND ND ND 0.6
14-— 5% ug/m3 ND ND ND 0.7
R ug/m? ND ND ND 0.7
1,2- &K pg/m? ND ND ND 0.7
1,2,4-= 3% pg/m? ND ND ND 0.7
NET 4% lg/m? ND ND ND 0.6
LI Etea e ug/m? 76.8 74.4 102 /
o RIS ACT B 77300 KRR, 4B H1 455 0L ND R FH
ik 7R R

N
it
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PSR A R TR AT (322 i) [X)

LM 2 BAGUER A NS Bk

e B REEH | 20191220 e
QW3-1 QW3-2 QW3-3
LI-Z8 2% ng/m? ND ND ND 0.3
L12-=8-1,22-Z0R 20 | pg/m? ND ND ND 0.5
FUA IS ug/m? ND ND ND 0.3
& P png/m? 55.7 65 62 1.0
L1-Z& 4% ug/m? ND ND ND 0.4
WE-1,2,- — & 2.5 jg/m? ND ND ND 0.5
= H pg/m? 1.4 1.9 1.1 0.4
1,1,1- =824 pg/m3 ND ND ND 0.4
IE=R A ug/m3 3.0 ) 1.9 0.6
1,2-— & 2.4 ug/m? ND ND ND 0.8
PiS pg/m3 3.1 4.3 3.6 0.4
=LK pug/m? 0.7 2.0 1.8 0.5
1,2-— S Akt pg/m? ND ND ND 0.4
JfF-1,3- = & 4% ng/m? ND ND ND 0.5
B ug/m? 5.0 6.8 6.1 0.4
RR-1,3- —F A5 ug/m3 ND ND ND 0.5
L12-=8 2.k ug/m? ND ND ND 0.4
W& 295 pg/m3 1.0 1.5 0.8 0.4
1,2- iR 7.4 ug/m3 ND ND ND 0.4
S ug/m3 ND ND 0.3 0.3
V3 ug/m3 4.8 11 9.5 0.3
X /1) = B ug/m?3 58 9.4 8.5 0.6
P ng/m? 4.3 6.9 5.9 0.6
AN pg/m? 1.4 12 1.5 0.6
1,1,2,2-10F Z. %z ug/m3 ND ND ND 0.4
4-ZHE R pg/m? ND ND ND 0.8
1.3,5-= FH I3 pg/m? ND ND ND 0.7
1,2,4-= F 3% ng/m3 0.8 ND ND 0.8
13- &% ug/m? ND ND ND 0.6
1.4- 5% pg/m? ND ND ND 0.7
FEF ng/m?3 ND ND ND 0.7
1,2- =& ug/m?3 ND ND ND 0.7
1,2,4- =& % ug/m? ND ND ND 0.7
ANAT 4% ug/m? ND ND ND 0.6
LAk & 45 ug/m? 87.0 113 103 /
sk SIS RACTF BT H 7 40 PR, SR04 B o) ND %75 3 i}
AR IR

LA ME S K A TR A 513 U 14 1 LHEHM: 20094 1071 A




MR EE R HIEER AR (322 ) [X)

St 2 THSERMEIYERR

e FREO M 2019.12.20 l
wEY L:X)y) WAl oWz Qw43 o i PR
LI- =& M ug/m? ND ND ND 0.3
1,1,2-=f-1,22- =8 k¢ | pg/m? ND ND ND 0.5
RN M ug/m? ND ND ND 0.3
ZHE R ug/m? 90.0 94 95 1.0
LI- =&k ug/m? ND ND ND 0.4
JA-1,2,-— 205 ng/m? 1.3 1.1 14 0.5
=8H R pg/m? 2.4 0.9 0.4 0.4
L,1L,1-=8 258 pg/m? ND ND ND 0.4
IR Ed ng/m? 1.3 1.8 1.7 0.6
1,2-Z /58 pg/m?3 ND ND ND 0.8
2 pg/m? 3.8 37 35 0.4
=R pg/m3 1.9 an 1.0 0.5
1,2- & A ke pg/m? ND ND ND 0.4
RR-1,3-= fA pg/m? ND ND ND 0.5
% ug/m? 6.3 5.3 5.2 0.4
R-1,3-Z 8 pg/m3 ND ND ND 0.5
1L,1,2-= 8|58 pg/m3 ND ND ND 0.4
WY pg/m? 0.5 0.7 0.7 0.4
1,2-ZiRZ 8 pg/m? ND ND ND 0.4
E pg/m? ND ND ND 0.3
L pg/m?3 19.4 20 21 0.3
ot /) — ng/m? 14.2 15 15 0.6
A — F2K pg/m? 10.2 10 10 0.6
LI png/m? 0.9 0.6 811 0.6
1,1,2,2-JU& Z. ¢ ng/m3 ND ND ND 0.4
4-ZFEH IR ug/m? ND ND ND 0.8
1,3,5-= FEE pg/m? ND ND ND 0.7
1,2,4-=FFHEE pg/m3 ND ND ND 0.8
1,3-— &% pg/m? ND ND ND 0.6
1.4-8# png/m? ND ND ND 0.7
FTEA ug/m’ ND ND ND 0.7
1.2- =% g/m3 ND ND ND 0.7
1,2,4- =& % pg/m? ND ND ND 0.7
VAT it ng/m? ND ND ND 0.6
LB eE png/m? 152 155 156 /
ot 2RI G5 SRR T BT D7 BR A, 4R 45 5 Ll ND #oR 34 it
FiEAH IR .
dk ) T4
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